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Note : Answer all questions. All questions carry equal
marks.

ST Y P o oY | i

TP /. Unit-I
1. T diffq <fae aet st ¥ 790 9
10000 §Far 3§ frifia few) oieli w o
ufsr freefafaa 9o 33 4t
T2 WA W MW W
|

@

L L G e S £ P TERPT S T LT

90 JDB % (14) | (Turn Over)

Scanned with CamSCénner



8l >

| TR —— TV WEERY NN NmeillSSSNNETT Y

(2)
T2 wid W @A W
3 yfa 3w wuw WEE W
T3 wfd oiw iffm am W
FIH F 9000 AW ¥ fow T Wi
U Wi ST w1 @er w0 femn T
a1l 200 W W wuw g w R H
Blgwt Iw aftfe W i W o
T g A S siftw W 2 O ¥ wed
B W= W M A sifm g ¥ ae
mﬁ&nﬂm‘faﬁﬂmmw

T Foifm = femr w1 s
Term=n wfafesl #ifs)

A Limited Company issued 10000 Equity Shares

of ¥ 10 each om which the money was payable
as follows :

¥ 2 per share on application
¥ 2 per share on allotment
¥ 3 per share on first call

¥ 3 per share on final call
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The company received applications for 9000
shares. All the applications were accepted. All
money due as stated above were received with
the exception of first call on 200 shares. These
shares were forfeited before the final call was
due. After the final call, forfeited shares were

reissued at ¥ 9 per share fully paid. Show the

necessary journal entries.
Y491/ OR

HUH F GRfa S = & e
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Define Debenture. What is meant by
conversion of debentures? Describe the

method of such a conversion.
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Prepare a specimen of Companies statement
of Profit and Loss in the format as per
Schedule III of the Companies Act, 2013.

31941/ OR
s & it @ o faaw #
ITgF IEW T famn | wHmmE

Explain in detail via suitable example of
Liquidator’s final statement of accounts.

1%/ Unit-I11

& W F: @fa H qed oA 9w a6l
F ufa oitga o & &7 aff & 59 &
HAYR | FIfCI T SR 969 & @Y 39
TFR ©:

EL| Gk
LI
2010 20,200
2011 24,800
2012 20,000
2013 30,000

(5)
Y% 98 @ YR We@ fea mar ®:

a§ 2010-1, 2011-2, 2012-3 3R

2013 - 4

mﬁﬁmqaalq‘anﬁ%:

(@) 1 faawr, 2012 & @GF H AOHG W
76,000 % @9 H AW W yvIa R
T I U H ued gu ww fafy |
10% wihad BE & TWESA FA T
=fd H T 'q YSied it |

) a8 2011 ¥ foau sifm whm =
72,400 ¥ Ay geaikd T 71

(c) ©fa qeaiwd % feag 74,800 Y&y
W % aifde WWR @ wfefea fea

™ R

Calculate goodwill of a firm on the basis of
three years purchase of the weighted average
profits of the last four years. The profits of
last four years were as follows: '
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(6)
Year Profits g o ¥ freAfafad foqacur YA ©
¥ (a) S 745,000, 6% AT sw €10
2010 20,200 1 e guied | 45000 A 3w 710
2011 24,800 e ol
2012 20,000 : ——
2013 30,000 0O @
The weights assigned to each year are: (¢) &= wd enfys ¥ 35,0001
2010-1, 2011-2, 2012-3 and 2013 -4 @ S — P % R FA

You are supplied the following information : T @l & sied ¥ 85,0501

(@) On 1st September, 2012 a major plant © @ " T g a7, "{Uf

repair was under taken for ¥ 6,000, which
ved ¥ 9K e W g wM I

was charged to revenue. The said sum is

to be capitilised for goodwill calculation 9% ®1

subject to adjustment of depreciaﬁoh of . ) )

10% p.a. on reducing balance method. (f) Fet wfqad ¥ 10,000 HA H g
(b) The Closing Stock for the year 2011 was F T

over valued by ¥ 2,400. ’ A 2

wmﬁgqﬁgmamﬁﬁﬁﬁn,soo
F Hhm wwfa &, wHa o @ S

(c) To cover management cost on annual
charge of ¥ 4,800 should be made for the

purpose of goodwill valuation. - EIcEEd !
aY4qr/ OR
90 JDB * (14 _ (Turn Over)
BB_JDB_*__(M) (Continued) _IDB_%_(14)
v Frczrme mar i BA N R TR E B A D e NI L) TSN o S A T N N E‘J‘&E

Scanned with CamScanner



S S a2

G W A A T T
FiE) P %‘;éﬁifs&«zﬁ.gl

(8)
(9)
The followi rticulars are available of
M:k :L:g BRGNS I/ Unit1v
€S .
4. THIEW QAW T oW ¥ TEHw
(@) Capital ¥ 45,000, 6% Preference Shares ) . F |
‘ _ - ﬁqé@mmmAs-14ﬂag@ﬁ§aﬁ ‘
of ¥ 10 each fully paid up. 45000 Equity 1 o R
Shares of ¥ 10 each fully paid up.
What do you understand by Amalgamation ?
(b) External liabilities ¥ 75,000. ® @  Describe the main features of AS-14

accounting for amalgamation,
(¢) Reserve and Surplus ¥ 35,000,

HYqr/ OR
A rofits after taxation, d 3 Raf
(d) Average pb lth a ;085 Ot;a;me w & - -
every year by the company ,050. wiga & T Suurd Y o foemm il
(¢) The normal profit earned on the market (" 10 9 s0000 sfw §) & o
value of Equity Shares, fully paid on the Frfafas wa s ¥

same type of company is 9%.

(@) 3 foemm il & 2/5 wm 1 R
(f) Company transfer every year ¥ 10,000 to oicd gHaT 9|
reserve.

@ © (&) 3 T wEA HW F 15 T 5%
Calculate the fair value of Equity Shares

ied yaifasr siw)
assuming that out of total assets, assets worth
¥ 3,500 are fictious. (c) ¥60,000, 6% faeta =orm)
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¥ 1,50,000 T = q ;g
0,000 & o, HHR

(11)

An issue of ¥ 50,000, 5% first debentures was
made and allotted, payment for the same have
been received in cash. The Goodwill, which

stoed at ¥ 3,00,000 was written down to

w R st 1,0 : ¥ 1,50,000. The Plant and Machinery which
75,000 &L faa | welcs t@ W stood at ¥ 1,00,000 was written down to

’ TR
wygq @ s ¥ 1,50,000 LR % @ ¥ 75,000. The freehold and leasehold premises
7 1,25,000 X fean Tl 3 lﬁ. o X% which stood at ¥ 1,50,000 were written down
AR W Fot BT to ¥ 1,25,000. Make the necessary journal
v a@ Sl entries in the books of the company on the
o B _onstrction of a company, the basis of above transactions.

n e
. d uvpon: The

f “O“ﬂng terms were agreﬂ ) ‘ )
s;areholders to receive in lieu of their present | TR / Unit-V

. - £% 10 each) the
holdings (viz. 50000 shares @ 5. e fafes ¥ wio fafie ¥ sow aiw

following :
(@) Fully paid up Equity Shares equal to
2/5th of their koldings.

(b) 5% Pref. Shares fully paid to extent of
1/5th of the above new Equity Shares.

(c) T 60,000, 6% second debentures.

®

%4 fou) w fafy = e fafes & 3iw
%9 for W™ 39 fafg = w@o fafes o
W9 UE WY WEW: ¥2,00,000 3R
¥ 3,00,000 &1

SFl wHEbE % 31 AN, 2016 @ fERR.

= vor .
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f‘afﬂ-u-[ HHo ﬁ-‘!o THo f?lo
¥ T
() wwa T A
mﬁﬁ £ ﬁﬁﬂ:
afw st 140,00,000 10,00,000
H99 T e
A G954 15,00,000( 4,00,000
v @ '
faraur - i 23,00,000| 6,00,000
=], e
R 2Fand 12,00,000| 5,00,000
90,00,000 | 25,00,000
—_—
(1) S=fe :
fafay wmfeal 70,00,000 | 25,00,000
fafdm :
wHo fafaes § siw | 20,00,000 —
90,00,000 25,00,000
ser fea @t A wifag ok fufa e
CEIELS
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(13)

R. Ltd. acquired 80% shares of S. Ltd. At the
date of acquisition the reserve and profit of

S. Ltd. amounted to ¥ 2,00
respectively.

,000 and ¥ 3,00,000

Balance Sheet of both the companies as at
31st March, 2016 were as follows :

Particulars R Lid. || S Ltd
~ ¥ Il T
(I) Equity and Liabilities :
Shareholders Fund : &
Share Capital 40,00,000] 10,00,000
Reserve and Surplus :
General reserve 15,00,000| 4,00,000
Statement of Profit and
Loss — Surplus 23,00,000| 6,00,000
Current Liabilities :
Trade Payables 12,00,000| 5,00,000
90,00,000 | 25,00,000
(i) Assets: ==
Sundry Assets 70,00,000(| 25,00,000
Investment :
Shares in S. Ltd. 20,00,000 —
90,00,000(] 25,00,000

Calculate minority interest and prepare a

consolidated Balance Shee
9ar/ OR

t.
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§5 ¥ w-gfr 1 A Gl a6 &
dfm wd § A M aret  fafy=
sl A e

Give the specimen of Bank’s, Profit and Loss

Account. Explain the various Schedules which
were prepared in Bank’s Final Account.
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